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The figures in the margin indicate full marks
for the questions.

Part A (3 -9I%%)

Q. No. 1 (a~f) carries 1 mark each ‘ 1x6= 6
Q. No. 2 -7 catries 2 marks each 2x6 = 12
Q. No. 8 -12 carries 4 marks each  4x5=20
Q. No. 13 & 14 carries 6 marks each 6x2 =12

Total = 50
Part B (¥ -9IY)

Q. No. 15 (a - f) carries 1 mark each 1x6= 6

Q. No. 16 ~ 21 carries 2 marks each 2XGN= 1] D
Q. No. 22 =26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 = 12

Total = 50
Total (Part A & B): 50 +50 =100
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PART-A /F-Sig%t

(a) " Define the term scarcity as used in economics. 1
SIS ee TR LGN el fa |

(b) What is opportunity cost ? i1l
e 9 = 2 '

(© If marginal utility of a commodity is higher than the price, then the
consumer will buy more of the commodity. 1

(Write true or false)
I @5 w9 TS SRS T0R e wiEe W, (orE SIreeis

T R AR g R (%5 7 T )
(d) What will be the effect of price change on supply of a commodity
with perfectly inelastic supply ? 1

Sspef SREEINT QT @5 TR s 79 SR ool [ 2 2

(¢) How will an increase in the price of inputs shift the supply curve ?
1

CoAMPR TG GO (@RI G ZAIed T SR 2
() What is shut-down price ? 1
SR Wi 7
Why the production possibility curve slopes downward from left to right ?
2
AT AR (T 19 AT sfar Giererter FFIN v = ¢

Give two reasons of a leftward shift in the demand curve. 2

Sifl @it AT ZATRS F4q 70! SR Sz 41 |

The price elasticity of demand of 2 commodity is 4 and the percentage
change in price is 8. Find the percentage change in the quantity
demanded.- ' 2
<1 T piftwi T AT ¢ i v st AR 8. GiRAR O
ARST sl 41 |

What is fixed factor ? GiVe one exgmp]_e. 1+1=2

3 Sofiwie & 2 by TR
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What is meant by inelastic supply ? Draw an inelastic supply curve.
=0

W@F@_\o %mnaﬁsmwwﬁm o5 (ISl (A S 4

Mention two differences between monopoly and perfectly competitive
market.

G T S =) ASEPSRET @ 7o) “iidky T T

Distinguish between change in quantity demanded and change in
demand. 4

Sifeni AR AfRae O bR SRS sew #{i (1Sl |

Mention the relationship between total utility and marginal utility. 4
o Cocifrel S 2lifes SHriTeN eE el T

What is variable cost? Why the average variable cost (AVC) curve
becomes U shaped ? 1+3=4

vfﬁa—ﬂawﬁwmvf@ﬂﬁawmmm)ﬁmUwi ©F ?

The production function of a firm is Q =21 K.

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L .

(Q = Output, K=Capital, L = Labour) 4

G TR DI Gl T T Q = 21% K2 | eV ARy 16 97
L SMFR oo 200 99 T Besf  pfd ROINGT SGeR (R
K-BoiiieR #IfFmie st 911 (Q = Seoimam sifFse, K = 1, L= 29 |

Mention the effects of the following on the supply of 2 commodity.
2+2=4
(i) Fall in the price of factors.

(i) Rise in the per unit tax.

B! T @I @99S OIS TrHd T Sy erefq T |
() CAMTPIR wee 3|

(i) e &= wre 1 I
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13. Explain the Law of Variable Proportion with diagram. 6

e TS “iRaeieT oAl [E! R0t 4 |
Or/ 924

The total fixed cost of a firm is Rs. 200. Fill in the blanks of the following -
table. 6

amma—bﬁaw SifSaiet 200 5l | S5 Oiferpre T=sjef <5 |

Output TC AC AVC MC
T
1 — — 100 —
2 460 — . — —
3 — 250 — —
4 o = 8 ct 230

14. Explain the process of Long-run Equilibrium Price determination of

perfectly competitive industry with diagram.
6

o efSEIoRETs STUR AR SRR vE RAReR et Hag aiRace
5t 3|

Or/g2q

Show the effects of change in demand of a. commodity on equilibrium

price, if B&=0

()  the supply of the commodity is perfectly elastic

(ii) the supply of the commodity is perfectly inelastic.

<Ol T S T SIS biftnt sifadae efer oridt [ —
() wGE e 2 e

(i) TGR el ST s
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PART-B / <-=iz#t

15. (a) In what circumstances, the GDP of an economy can be equal to
GNP ? 1
& e @3 (T GDP, GNP I 3 & Ai{ 2
(b) What is transfer payment ? ' 1
BeEe AfRedy 2
(¢ What is voluntary unemployment ? : 1
TR el & 2
(d) What is Break-Even income ? ‘ 1
oo oiF & 2 '
(e) What is the full form of GST ? ' 1
GSTF =54 Foleol & 2
() What is zero primary deficit ? 1
X ehfERs =i & 2 '
. 16. Mention fwo subject matters of Macroeconomics. | 2

el SRy 7o R Smd 9 |

17. Mention any two types of leakages found in the Circular Flow of Income.

2

SIFS 51N 2RIRS C'd (N R 707 v [aca SE 90|

18. What is investment multiplier ? Write the relationship between investment

multiplier and MPC.

1+1=2

R edF & ¢ R 995 SIF MPC.3 e 71801 Bl |
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20.

21

23.

24,

25:

26.

Mention the fwo primary- functions of money. : 2

i 7o) 920 PR S < |

Mention two differences between revenue receipts and capital receipts.
: 2

-~

Jiez 2R = T AR em 757 2y 7R

State two sources of supply of foreign currency. 1+1=2

e RN TR 75 O Sl 51|

The value of MPC of an economy is 0-4. What amount of new investment

is required to generate new income of Rs. 500 crore in the economy ?
4

@2 SigIfo® MPC S I 0- 4|W@%WT‘»{?$500 mﬁ?ﬁaﬁwmﬁ—w
i B e T R ewed = 2

Explain any two fiscal measures to solve the problems of excess demand in
an economy. 2+2=4

ﬁm@ﬁﬁﬁwmwmmwmﬁmmzﬁmw
NNl

Mention four factors causing disequilibrium in Balance of Payment of a
country. ; 4

G (P ARCN IO SReARRe) S <=1 51170 SoAMl ST B |

Write down four differences between Direct Tax and Indirect Tax. 4

SO T I AT W AR pyfor oiieley vl |

What is Budget Deficit ? What are the three types of Budgetary Deficit ?
1+3=4

A Wi B 2 2SS oI B e £ B 2
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28.

Describe the Circular Flow of Income in a Three Sector Economy. 6
@3 oDl Qe L0 SFT bk ¥ &aiey Keal [ |
Or/ &=

Explain the Expenditure Method of calculating Gross Domestic Product
(GDP). ; 6

[ IS4 AW ST A AROCH! TR |

Explain the process of credit creation by commercial banks. 6

Jifdfere @1 A9 e aifaes: IR 50|
Or/ J<l

Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6

FifdfEre @ 5 T 16 FEges W@@ﬂ@mmwvfﬁmﬁ—vfﬁ
ST 4 |
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